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QUESTION 1

On Linux and Unix systems, which of the following will set the DB2_FMP_COMM_HEAPSZ registry variable to 1 GB (or
256000 pages), only for the instance db2inst1? 

A. As the db2 instance owner (db2inst1) execute the command:exportDB2_FMP_COMM_HEAPSZ=256000 

B. Add to the following line to the userprofile (db2inst1): DB2_FMP_COMM_HEAPSZ=256000 

C. As the db2 instance owner (db2inst1) execute the command:db2set ? DB2_FMP_COMM_HEAPSZ=256000 

D. As the db2 instance owner (db2inst1)execute the command:db2set ? db2inst1 DB2_FMP_COMM_HEAPSZ=256000 

Correct Answer: C 

 

QUESTION 2

Which operation best describes the purpose of the SET INTEGRITY PRUNE operation? 

A. To prunethe contents of a staging table. 

B. To prune the contents of a synopsis table. 

C. To prune the contents of a materialized query table (MQT). 

D. To prune the contents of a declared global temporary table. 

Correct Answer: A 

 

QUESTION 3

You suspect there is a communications issue between a member and a cluster caching facility (CF) in a DB2 pureScale
instance. Which command will provide diagnostic information that can be used to confirm your suspicions? 

A. db2cluster -verify 

B. db2cluster -cm -list -alert 

C. db2cluster -verify -configuration 

D. db2cluster -cm -verify -resource 

Correct Answer: D 

 

QUESTION 4

Which command can be used to view the configured global registry settings for all installed DB2 copies found on a Linux
server? 
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A. db2val 

B. db2set 

C. db2look 

D. db2greg 

Correct Answer: B 

 

QUESTION 5

Which of the following are valid Explain operators? (Choose two.) 

A. CTQ 

B. XSCAN 

C. IXSCAN 

D. SELECT 

E. COLSCAN 

Correct Answer: BC 

 

QUESTION 6

Which options are valid for an online reorganization operation? 

A. FULL and RECLAIM EXTENTS 

B. CLASSIC and RECLAIM EXTENTS 

C. FULL and CLEANUP OVERFLOWS 

D. CLEAN OVERFLOWS and RECLAIM EXTENTS 

Correct Answer: A 

 

QUESTION 7

Which of the following enables the user to connect to the HADR standby database and execute select statements? 

A. DB2_HADR_ROS 

B. HADR_SPOOL_LIMIT 

C. DB2_HADR_SOSNDBUF 

D. DB2_HADR_PEER_WAIT_LIMIT 
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Correct Answer: A 

 

QUESTION 8

You receive a large data file that contains large object data values that need to be copied into a table in the shortest
amount of time possible. Which utility should be used? 

A. LOAD 

B. INGEST 

C. IMPORT 

D. TRANSPORT 

Correct Answer: C 

 

QUESTION 9

Which statement about the db2move command is TRUE? 

A. The LOAD actions can be run from a client machine. 

B. Object ownership cannot be changed after a successful schema copy operation. 

C. Tables containing GENERATED ALWAYS identity columns can be imported or loaded. 

D. Loading data into tables containing XML columns is only supported for the LOAD actions. 

Correct Answer: D 

 

QUESTION 10

Which command will enable Explicit Hierarchical Locking (EHL) in a DB2 pureScale environment? 

A. UPDATE DB CFG USING CF_LOCK_SZ AUTOMATIC 

B. UPDATE DB CFG USING OPT_DIRECT_WRKLD YES 

C. UPDATE DB CFG USING LOCKLIST 4096 MAXLOCKS 90 

D. UPDATE DB CFG USING LOCKLIST AUTOMATIC MAXLOCKS AUTOMATIC 

Correct Answer: C 
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